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Nasobeni a deleni uhlu

Vynasob velikosti uhlt:

a) b)
40°.2=[__ [ ] 49" . 4= |°[ ]
55". 5= | ] 56°.3= ][ ]
51".6=__ ][] 32.6=__|°[ ]
41°.3=[__1°[ ] 53" 4= ][ ]
51".2=[ [ | 40.6=[ ][ ]

Vydél velikosti uhli:

4 ’ 4 4

)

17:2= ] 5°:3=_J[_]'
4= T 6:6= L]
2= L | 8°:2=_J[_]'
s:4=[ LT 5= LT
6°:2=_|°[I' ro:2= L1
Vynasob velikosti tuhli:
1°25".5= [ ] 828".5=  |[ I
9034,.3=|:|o|:| 5012’-8=|:|°|:|’
9°32° 8 = |:|°|:| 4°22° 7 = |:|°|:|,
756" .4=[_ [ ] 6°55 .4=[  |[ |
345" . 2= |[ ] 1°37°.9=__|°[_ |
)
26°45 . 7= ][] 22°5 . 6= ][I
16°39°.3=[ ][ ] 12°14" . 6= ][]
18°34".8=[__ ][] 14°4".8=___|°[_ ]
12°37".8=[ [ ] 21°0°.6=___ ][I
11°48 . 9= |°[_] 1357 .7=__|°[__]
)
58°24 :2=[ | | 76°8 :4=[_ [ |
102°0":6=[___ ][] 38°52°:2=[_ ][I
36°33°:3=[__ ][] 58°9":3=[__|°[__I
97°12 4= |°[_] 72°28 4= ][I
112°44 4= o[ ] 9218 :6=__|[ |



